
Solving Two-Step Equations

Warm Up
Solve.

1. x + 12 = 35

2. 8x = 120

3.     = 7

4. –34 = y + 56

x = 23
x = 15

y = 63

y = –90

y
9



Solving Two-Step Equations

Problem of the Day

x is an odd integer. If you triple x and 
then subtract 7, you get a prime 
number. What is the smallest possible 
x? (Hint: What is the smallest prime 
number?)‏
x = 3



Solving Two-Step Equations
Essential Question:

How do you solve two-step equations?

Standard:
MCC8.EE.7: Solve linear equations in one variable.
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Solving Two-Step EquationsVideo

Finish pg. 113

http://youtu.be/1HLGsKYoUU0

